oy

i)
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Adding and Subtracting
Whele Mumbers

Find 543 + ZEE
e | Add tens, Regroup. | Add humdrsds.
|
1 1
£43 543 543
286 +286 286
I = B 29 az3 |
Find 648 = 152,
| Subimact onss. Fegroun. Subtract tans, | Swbiract undreds,
: 514 814 !
| 649 Ed3 B48
T &y 48T
Firnd each sum or dfferance.
1 413
1. 47 2 584 3 474 4. 582
154 = 38 +631 =333
1 8
B 47 B 60% T. g43 B. 594
+151 +3r1 =278 =484
g Ta 10, 2863 11. gon 12, 418
=44 = - =321 —1%8

1. 845/7T+3=

{8 379 + 298 + 619 = _____

4. 736 + 503 + 37 =

6. 603 + ¥I0 + 623 =

17. Bratt hes 136 bassball cards, 287 basketball cards, and

68 hockey cards, How many cands

dic=g ha have In all?
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Adding and Subtracting Decimals

Find 1.7 + 2.45. Fird 5557 = 4.6,
— . = |
Ling o dhwe cecimod paints ILﬁHmﬂmdﬁhﬂf—'ﬂm
| t L t § 18
1.7 1,70~ Wit wes fe I 36.57 3§.857 Wiesmmsio
2 2 A8 4+ 2 A5  showpcewals | = 4. 0§ = 4 B0 . showphos e
4.15 31.97
+ Placs decima! point ¥ Flsce cecimal penr
i in s i angwer;
Fird each surm o difference,
b L]
1. 2.65 2 1410 3 T44 4 &
£13.,30 =3.03 + 38,2 =0.6
[ 8.37 g 100 T B.4 g 0.8
ool 11 = D.2% +237.29 =0.23
B 164 -8 = o Es=-28=
1. 134 + 4.1 = 12, 13301 —ﬁ-ﬂ?
1% 4B+ 175+ B0 = 14, 123 + 0,81 + 100 =

15. On the 3-days of ther vacation, the Devis :IB.m:Ij'
travelad 417 mi, 45.3 mi, and 366.% ml. How far

did thay travel all togsther?

18, Etla baught a calculator for $15. Glenn faund the
game modal for $8.73. How rmuch mone did Etta
pay than Glenn did?

O P Por P kb Wy @




m MULTIFLICATION MASTERY - 25 U

Dt Blama
Seorm A28 w
2 2 F | 2 2
X1 Xz X5 X7 X9
2 2 2 2 2
X2 X4 X6 X& X10
2 F 4 2 2 2
Xiz Xi1 X0 X6 X9
2 2 2 2 2
Xii X7 X5 X2 X3
2 2 2 F F4
X& X X0 X0 X1

MM Tesching Ails DOTHIL TamCawp  Soeza, LT 159 Rewed 1937




% MULTIPLICATION MASTERY - 3'5 @

Dae MName
Sears F28 o
3 3 3 3 3
Xi X3 X5 X7 X9
3 3 3 3 3
X2 Xq X6 X§ X10
3 3 3 3 3
Xi12 Xif X0 X6 X9
3 3 3 3
{1 X7 X5 X2 X3
3 3 3 3 3

Bis Teackmg Ay (0140372 TamiTomgy  Lowcza, L3 [994 Rewmssd 1997




z MULTIPLICATION MASTERY - 45

Drate: *lama
Srrwe FE8 i
4 b 4 3
XX  x3 X5 X7
4 & 9 4
X2 X4 X6 XE
4 4 4 4
Xiz Xt X0 X6
4 4 4 4
Xii X7 X5 X2
= .. 4 E
X§ X4 Xio X0

S Tanching Al 8014047 Ty Dowza, HE

19% Ramsei 1577




z MULTIPLICATION MASTERY - 5' F

g 2 Fapes
& perer fES L]

5 5 - 5 5
X1 X3 XS X7 X9
5 5 3 5 5
X2 X4 X6 X8 X10
5 5 5 5 5
Xi2_ X X0 X6 X9
5 5 5 5 5
Xif X7 X5 X2 X3
5 5 5 5 5
XE. X4 Xio X0 XTI

1M Teachoee Aids OO TH05/x TamCwvp  Sovma, K 1982 Reviied 1857
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MULTIPLICATION MASTERY - &5
MaTre
e Fa5 o
E s 4
X3 XS X7 _

6 6 6
X X0 X6
6 6 6
X7 X5 X2
6 ] 6
X4 X10 X0

TansiPamp  Lesera, M5

1994 Reromed (997
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=g
=~

7
X&

Sl Teqcking Auds COT400 e

MULTIPLICATION MASTERY - 73

7 7 7
X1 X0 X6
7 7 7
X7 X5 X2
7 7 7
X4 X10 X0

TamiTemp  Smesa. HE

1994 Rirvgad 1957




MULTIPLICATION MASTERY - 85

Dats Mamg
Leors: ~2g - 3
g § & g
X1 X3 XS X7
8 g § &
X2 X4 X6 X&
5 - g 5
X12. X1 X0 X6
5 F 5 5
Xi1 X7 X5 X2
g g g 3
X& X4 Xi0 X0
MM Tenchng Sald 00408/ ThamiZomp L K5

1994 Reviwed 19377




K MULTIPLICATION MASTERY - 9'S E

(5 Ramm
e

Cacre A =]

9 9 9 9 9
< X3 X5 X7 _ X9
9 9 9 9 9
X2 Xq_ X6 X§ X710
? 9 9 3 9
X12_ X1 X0 X6 X9
9 9 9 9 9
XiT X7 X3 X2 X3
9 9 9 9 9.
X8 Xe Xi10 X0 X7

eachu Aody DOTRO%a DammiZomy  Lemeza 8.9 135 Rarviged (997
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[

10

X1

10
X8

S Teaching Aeds OOT#I0a

MULTIPLICATION MASTERY - 10T

10
X4

10
Xit

10
X7

10
X9

10
X0

10

X5

10
X1o

10

X7

10

10

Tl T v, M3

10
X3

10

[994 Revmeen 3997
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Xi

1"
X&

MM Tenching Aals 00411/

MULTIPLICATION MASTERY - I1'S

MNams

Lo FI8 96

] " n

X3 X3 X7

Y I ]

1 i 1"
Xit X0 X6
" " n
X7 X5 X2
n - ]
X4 X10 X0

ﬂ.-l':I.l'_’-\.'rﬂ;r Serzn, KT

It
X3

]
X1

1984 Revmad 1997




XE MULTIPLICATION MASTERY - 12°5 ‘E"

Date: MName:
Srrre P =

12 12 12 12 12
X1 X3 X5 X7 X9

12 12 12 12 12
Xz X4 X6 X8 Xi10

12 12 12 12 12
X1z X X0 X6 X9

12 12 12 12 12
XI1. X7 X5 X2 X3
12 12 - 12 12 i2
X& X& X10 - X0 X1

i Tezchern sods D2f$1342 Ty Ciegen, f5 19%% Bevised [95T
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Multlplylng Whole Mumbers

Find 124 = 32,

| Muindy ones Miuificly tans ' .d.:h'me,r.m'al,n.rnq';.m._
1
124 124 124
# 33 x 22 x 32
248 248 Z48
[ 3720 3 730
: 1,888
rind sech product
1. 38 2 &a& a4 &g 4 B2
. x43 A x13
266 168
4480
8 432 6. 1BS 7. EBo3 E 774
= E‘I W iE . ﬁﬁ ¥ Eg
B. 198 0. @00 1. KarF 12. Ba8d
¥ 3q B_1t #odl X 73
13, 55 X B = 14, &0 o 15 = 15 4 » 905 =

16, A daiivary tnick carrled 144 color t8levision ats,

Each set weighed 34 1b, Write the waight of

thi& erdire shipment,

17, Joy ran 42 mlles a waek 1o train for tha
Boston Marathon, How many milas did

ghe run after 12 woeks?




Mams _

Review
-
Multiplying with Decimals ———
Find 4.3 = 2.7,
Mty 83 vou woei mmmﬂmmmmmm
‘ n-ﬂr.rru.rfmhnumm ‘ mmuuqurmmmmmL
3. 4.3 = 1 decimal placa
3"5_2_._2 i -T = +1 decimal place
401 11.81 = 2 dacimal placss
~BED
| 1181 |

1 14 2 1.4 3 0.4 4, 0.0&
=8.4 x B =3.2 x 0.3
112
1120
i
BE 2.18 .3 a.a . D.51 E. 1.35
= B3 x0.12 x* 4.3 . |
8 23 % 04T = W0 xE=-_ 11, 188 % 285 =

12, 0B = 0,711 = il 20 % 202 = 14, 49 %504 = =

15. A rodl ol paper lowels containad 250 shasta
Each aheat wes 8.76 inchas long, Haw long was the rea? e e

T Pl [T Vb brrr Wesiey ®

18. Tanla bought 3 naw swasters, Eanh sold for 319,89,
How much did she spend? ==




0 Fwd Movm e Ak bice B @

.

=
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Dividing Whela Numbers

Find 777 + ar7.
2 g0 el
ATINT T == This: 000 arifrrT
I4 Puttiphy 3 = 37, Eubiract,
Try 2 in T fSens place arv Bring v ¥ in cnm placs
i the quatisnt. AT Mubipy 1 a7,
| 0 Sikrimct,
Find mach guotisal
1
1.244 E B 2 EEzZaE a 7687 4 4904
|
24
e
L
581814 B 26910 T.18838 8 4ERETD
8. 4582 +73=_ 0. 40B0+80=_ 11.3B40+B1=_

12, 4,060 + 28 = 41386 +13=____ 14 5475+ Th o —

e —

15, Lyn=tie scorsd 437 paints in 23 baskathal games.
Find the average number of points sha scorsd per garma,

——




Dividing with Decimals

Find 35.8 + 18.

] Place w decmal zoint. 2.3
2y a i6=8.8
1El38.8 = Thinic 20730 i tiphy f = 1AL
4.8 Bubirset Shng dovwe A
Ty 2 n the ouctent. 4 B pAdtiph 0.3 w5
0 Subiract
Find asch quetient
2.
1.!515.3 2. 68/131.4 3 eM41.3 4, SI3BB.5

[
i

.

g 7668.2 8. 28/Z643.2
£ 28012+ B =

11, 222962 = 46 -

B 734,23

T. 41274 .7

10. H1.58 + 4 = ¢

12. 144808 + B =

13, A photographar bowght 38 mils of Bm for 312844,

What was the prica of ans mall?

14, Four siudents aech ran 100 m In & 400-m ralzy reca,
Tha team's 1otal ime was 4944 sec. Find tha avarega

tma of each rumner,

i Cord Fomanmn dakios VWisowy d
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Problem 3olving: r————
Anzlyze Word Problems
To imprmve s vocabulany, Operatien:  He Berted 18 words par wesk,
Camen learmad 15 naw werds There wars 10 wesks,
&ach wesl, How many worms sl L2 muitisficstion.

oid he learm = 10 wesks?
Sohdicn: 1E % 16 = 180
Camon leamed 150 naw words.

Writa which aperaticn you would ysa, Than sclvs.

1. For Ciass Day acthvitias, the 54 studemis af Weal Side Schaeal
were divided into 18~gtudent teams. How meny {eams wara thare?

2, Dlda loaded & 367 .5-b piana, a 3.76-Ib jamp, and a B5-lb desk
imba her péckuo tuck. What wes the tatal welght in the pickup?

3, Tha 5188 bike that Im wants = on sale for 314885
How much can he save by buying the bie on sale?

———

4. Teyler's 14=minuie phone call cost 53,40,
How much did the call cost par minuta 7

& At the fish slere, Larmar beoght a 1.2-1b flowndar flet, The price
of tha floundar waa 53.85 per Th, How rruch did tha iRt cost?
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Interpreting Data

|
Tha bar graph shews the langths __ L'!'.'E"."'_*T’-""!"'-'H -|

in miles of the Grest Lakas, Langths
| of bars represant lengths of akes,

Winich |& the shortest Breat Leksa?

Longh |mi

_EHHESE

The shormest faks & Lake Onterio.

Supancr Wionigen  ESria Hurer Qe

Loka
Use e grapins to answar 8ech guesiion.
1. How many anchers soomd 4 bull's eyes? Airzhery Ramsits
LI
= %o ;

i ¥ ¥ I 1 [ ]
2, What was tha meat cormmon number £1 28 4 E &
al bul's-ayes Scomd? P of BUT-mvms Senred

A& In which month weare tha most houses
sold?

4, In which manih wera about the same
numbar soid % wara sold n Augast?

|
dan Foly bMar Sar May Jon il bog
Bl

5 Which grades ralsad sbaut the same
amount for the school book drive?

B. Tha s=chool's goal was to ralse $1,500,
Abaut how much did thay raise jn afl?

& Sl i v e Baintmer s Py B
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GCF and LCM

Find the GCF and LGM of 20 end 30.

Fraatest Common Fachor (GEH

Faciors of | 120
Faciars af 50 A5 3015, 30

Tha commmen fectara aof 20 and 30
am 1, 2, 5, and 10,
The grastest common facior & 10,

| Least Cmnmurrhh.lm;n; L)

Puitiptes of 20: 20, 40 B, 100200
Muitiples of 30 a0, 12 |
Common multiples of 20 end 30

&rs 80 ard 120,
The lasst common muttiple s 20,

1. Find the GCF and LCM of 8 and 12,

[ LR ST RS S

FaclorsoéS
Feclorsod 12 _ GCF =
Mutiplesof &
Mulpleg ol 422 LM o=
Fird ths GCF and LOM of aach palr of numbers
2, 12 and 15 3. 14 and 26 4. 2 and 24
GCF = GOF=__ GOF=___
LM = O . S—
5 Stove stechad 8-t and 10-Rbcards 577 75 1—
along & welll. Afer how mary test will FS7T 0 ]

Eha boands first lina up?

B, Romnie has $45. Beth has 354, They sach spant l thair monsy
at the CO' saks at Sounda Great. i all G08 are tha samea pries,
whial is the most sach GO can cost?




-
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Lines and Angles

Heviow

CEn%.

Farsllal Inea naver

| intersecting (ines cross Parpandicuiar lines

&t one point. Irtareses st 907 gnglea,

A giralght angle An seuts snpls
Fas & medsyme has | massure
| af 1E0". le== than 30°,

p =

An obtuse sngls
nas & maasun
greater tkan 50°
but fass ihan 1807,

Classify sach palr of fnes &= being parellsl, intersecling, or parpendicules.

1.

Classify sach angle as being fight, straight, aculs, dr obtuss,

R

B, /! 8 -

. 2 /?/ 3 %
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Alternetive
Adding and Subtracting Fractions o

with Like Denominators
Taa fractions with the same denominstor have llke fsnominstors.

Whan adding and sublracting fractions wih like danoméngiors, tha
denomnator ot ke a fabel, telfng you what size pieces you e
Lsing, The nrumenatars are the number of pleces you add or subtrect,

—E-:ﬂﬂ-p[-‘l-l_

Simpify § + .

Add numertors coly. Fri=481

Denoerinetors go not changs, -4 m+ﬂ r _mﬂ

Wit in lowest terms. =3 !

SBo,g+g=1

Try it Simplify, Draw a pacture H you ke, Wite sach answer in
Gwast ferms,

L L J— B3+y

cBrd— e

a3+ L+

G g e — o+ g

— Example 2 s—

Smplity 4 — -

Bublrest numerators only, -%—-,__’E

Denominatore do not change,
Virita in lowest tarmas,

i
i El.h _qm
s

2 Zod | Fesareen fobias | sy B

Bo,qp-&=4
Try It SimpEh. Draw a picturs # you like, Wite sach answee in
lowest tarms.
. b4 —
ki-3 L§-3 ——
m i1 TR |
5-2 rRE-& —

s P

B Lo b Sdiiias Misepary @

E‘_\-
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Adding and Subtracting Fractions

Find § + 2.

10

Find § = &

——

| B 1215 Multiplas of 3
(8:12]18 24(30| Multiples of &

&

Tha Ipasi common danominalos is 8,

4] 812 18jR0 Mutipiss of 4
Ii 1u|{§ﬁg&' Muitipdas ol 5

Tha sest common denomnatar is 20,

Whihe seivslent Fractions. % = g Write equivalant fractions. }- =
R 1_4
Add. _H_E Eub'ﬂ'ﬂﬂl. _E_ED
g 1
B 50
Firnd mach sum or difersnce.
Lopd - ;e T e .
LT G o — 276 s L S
Fl 1z |
a | 8 |
3 2 1 T [ 2 lrn
4545 m12—%-_12+3- TE-E=
3 1 §,08 {¢ 2 1.
LEg-§" i+t~ 0.5+5- L

12, Wiag praticed the piano for o5 he. She did homework
!-nr% hr, How much lorger did she do homasork than

she practiced tha plano?

i

£ Hend) Frrwra Sajoipon Wiy 3

o
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11
Adding Mixed Numbers
50
FM'II‘IE'I'EE.
Wit equivalent fractions. | Add the fractions, Add i whals numbers.
1#=1g faig 15 = 18
1 1 1 1 i 1
rig-2 - tag=12
: %
Tha LCD of 3 and 6 is & 8
Firied u::_rlu !J.rm;r.ﬂlmplrry. 5 >
, B HE g 5= s = i 5
2 .6 3 1 L.
bl - tag =5 ik N
-] 1 1 4
5. 'f 8 E'g ;. 3 G EE
4 4 4
LER+af=___ 0hred=_
1. 85 + 3= 12 13 + 8¢ =

1% Hmmduﬁ%rrim his biea in the marning an-:lﬁrnl
in the aftarnoan. How far did ha rde 2l fogether?

14, A storegs box measurng 111'1 fl in haight was siecked atop

J'I:l-:h:l:1EEth!helgﬁ!_ﬁﬂdm&intﬂlmlg‘ltnfllnhmhnauu.

11




Review
12
Subtracting Mixed Numbers .
Subiract 3 - 23
I Wite squivaient fractions. | Swbract tha frachions. Sebitract the whaie
nurabare. STy
2 4 2 4 a 4
=% T =9
1 1 1 1 1 1
4= %=1 =
3 g e,
| The LG of 3and 6 Is 6. & | Salt:

Find sach difference. Simplify,

] g - g 5
1. =34 2, *a—*% 3 9 a f
1 3 1 1 1 1
- 25 = 2% ~1g= 18 -3 23
7 7 5
5 0 s 8 7. 9 & T
2 1 1
-1 -7 -2 =
2 1 .
‘.E§'13- 1143—45-
1 2 L
11.25—1-5- 12.!15*-3%-
| =1 1 5
113§-EE= 14-5§—EE-

16. Greg found ted mchks for his callection. Cna waighed d} [ u]
& the ather wedghad 2“; . Find the dfferance in wsights.

A Tl Fresrew A birn Ve B




5= Aewlow
15
~  Measurement
.ﬁm:ml.hﬁ:nfmm Mairic Uniis of Measurs
Lengih Length
1foot ) = 2 mches () 1 cantirwier fomd = 18 milmebams imm)
1yard fyei =36 1 decimatar jgm] = 100 mm
=3M = 10 cm
1 mieimi = 5.280H T matar §m| = 1,000 mn
= 1.7A0 yd = 100 cm
, = 10 dm
T Mierneter (k) = 1 000 m
Waight Mi=s
1 paund (b) = 18 ounces (02} 1 gram gl = 1,00 rellgrarms (i)
1 tan T = 200 B 1 Wlegram gl = 1,000 g
imeticiondll = 1,000 kg
Complata: 12ft=__ F  wd 1. Complete: 3t = __ 7 in,
Think: A vard is bigger than a Toat, Think: &ninchis _ thana fost
| should divide: 12 = 3 = 4. | should i .
] ‘1yam : | -
3 |_.I__1 3 fpat [l [ HEEEEN :]IEI:I;-.I'-H
Sg, 12 ft = 4 yd, St o ]
Complets,
2 B0pz=__ Ib X 3Im=___ mm 4, 18 in = yd
E0ikg=____ @ B2T=__ b 7. 5km = m
i B1Smi=__  wd B. 65l = or 10, &3 dm = mim
i
4
i 11, 25g = g 12, 200 = R 13 8,700 rm = m
i
]

14, 4 notica on a lsborstony scale read, “Not for weighls
greatar than B0 oz." ¥in had a sample weighing 3.2 [b.
5 thn sample teo ke for the eoaia’

15
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Perimatar

FB-I'!II'F-EIH Is the distence amund & shapa.

You can add sides or multiply to
Snd tha parmeter of @ rectangis,

251n,
5

pP=2R+8n+25hN +A8n = 8in
orp =2 x (25 + 9 n) = 58 ir.

It enly ona sida of 2 figurs is ghen,
then afl =ces have tha sama lengih,
Scm

o= Som+Scm+5em + §am = 20 s
arpg=4 % Eom=20cm

1. Find the perimatar of the rectargls.

pe____ -+ + -+ = m

e e T e VB

Find the perimatar of each figurs,

OO W

4. Find the parimaser of the Bguers,

3.

p=_ M _ = jm,

T2in

T. 2% in. 24 om
- Eu I:,.T.,|_'_I_|f2 -
P
T4 cm

» Hm

A X

1. A fiower garden |5 in the shape of an equilateral triangls.

Each side Measures 153 t. What is the gerden’s perimatar?

il

£ Baad] F werwrman Bicliyan iSawvy @




>

Araa 2 {he number of square unis nesded fo cover a shapa,

| Find the erea &l the rectangls,

dm

am

Asag = lepgth % width
=Bmx5m
=.ﬂ.l1|,-|E

Find the ares of the tiangle. |

.ﬁrm-%xt:m&xheigr:

7
=g xBxd4
=12 cm®

1. Find the 2nan af the mctangis,

2. Find the srea of the triangia,

g in. :"E a1
7in.
§ft
Areg = * frgg = % - o
Find tha ame of each figura.
ki 12m_ 4, 16810, . .i_'ﬁ-:m -2
gf,:_ G2 om|:
T. 118
4.5 ye

11. A reciangulsr park massuras 300 yd by 250 yd.
What is the a=a of tha park?




kame

Probability

‘What |s the probasiity
<t spirming en &7

£ = numbar of Az
4 —1atsl pessible outcomes

Tha procabiity is E or %

‘What is iha probabliity
of spinning a BY

1 = number of Bs
4 - tofal possihie outcomas

The probabiity i <.

Compéata.
1. 'What is the probabilty
al epimning 217
E = number af 18 (1iagece)
%5

D = todel pogsible auloomas

The progablitty s

Giva iha probebdity al sach outcome,

A spinmmgan b
W'é' 5. splrningan Sor g

Z. What Is the probakdity
of spinning & 3%

|:| - number af s

D = botal possitds oUtcomes

The probahility is

4. spinning an S

6 spliminpan 5, G, orM

4

A numbar cube has B sides numbersd 1, 2, 3, 4, 5, and B. Find sach prabability,

T.llingad B, roling an aven numioar

B mlling 3, 4, 5, or 6

i 10 rolling enything but 1

11. A hat conieing 28 cands, aach primtad with & diferen ktar
of the aiphabet. What is the probability that you will pick =

wawel (A, E, |, ©, U, or )7

12, There are 6 blus socks, ¥ white aocks, and 8 gray socks
in a drawarn, If you pick a sock without ooking. what is the

probability that it will be bloa?

Bl [adl Firiewe dhfee Wiy d
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Problem Solving:
Anelyze Strategies

A Cofmputar store bas 28 pelrters and complters
| Thers &= 7 more printers than eemputars,
How meny of each sre thara?

Printers Computers Chegk
Ciars a0 ] 2 —-8=1
Clusss 2 14 i1 T4-11=3
Guesz 3 16 B 16=9=7/

Solution: Thers are 16 printsms and @ COmMputars,

) | F'l'l:Hlﬂ‘-Eﬂ‘l'.-‘i‘r'lgE‘l]‘Etﬁgila_

# Lise Chlectafdet f Cut

» Drew & Piciurs

* Look For a Pettarn

* Guass and Chech

* Make an Ongarizad Llst
= Mske 2 Table

» Sohve 8 Bimpler Prablem
* \Work Backward

Use sy strategy o sohes.

1. Al the vatarirarian's office, Ter lsamed that har

O weigheg

4 1imes as much &s her cat. Togethar the pats waighad 40 ks

How much did tha dog weigh?

2. Yasmin arrived home from piay praction at 425 pa, Tha walk
horma {ook 15 mirses. Practica Dagan 20 minutes after the

final ball and |eted for & hall hour. When did sahoal end?

3, Venss=a Disgn, Raose and Randy
5:00d [0 line for lunch, Aosa was just
behind Vanessa, Diego was not nasxt
1o Rese or Randy Writa the ine odes

=\

4, Students played dodga ball and valleylall for 45 minutes,

They played dodgs ball for 11 mone minatss tha
volleybal How fang did thay play dodga bai?

5. M Jores has 4 shids, 2 ties, and
4 pa of pants. How many days In =1
& row can he waar g differang outiit? — = =

14

n thay played

A2 ek e wrrr Al Wy

e e e







